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https://www.100test.com/kao_ti2020/142/2021 2022 _CISCOCCN
A E8 c101 142253.ntm Two routers named TestKingl and
TestKing2 are connected via their serial interfaces as illustrated, but
they are unable to communicate. The TestKingl router is known to
have the correct configuration. Given the partial configurations,
identify the fault on the TestKing2 router that is causing the lack of
connectivity. A. Incomplete IP address B. Insufficient bandwidth C.
Incorrect subnet mask D. Incompatible encapsulation E. Link
reliability too low F. IPCP closed Answer: D Explanation: HDLC
and PPP Configuration HDLC and PPP configuration is
straightforward. You just need to be sure to configure the same
WAN data-link protocol on each end of the serial link. Otherwise,
the routers will misinterpret the incoming frames, because each
WAN data-link protocol uses a different frame format. Other than
configuring some optional features, that’ s all you need to do.
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